On Point 2  Unit 7           Name _________________
I. Vocabulary: Choose the word or phrase that best completes the sentence. 
1. The _________ of correct social conduct varies from country to country. All cultures have their own ideas about manners.
a. compensation
b. policy
c. conception 
   

d. cycle
2. If you want to earn a high score on the big test next week, you have to ______________ studying for it over watching the football game. 

a. prioritize 
    
b. convince
    
c. conceive
    
d. strategize
3. The school’s ___________ is that any student caught cheating will be expelled.
 
a. conception
 
b. investment
 
c. strategy
    
d. policy 
4. All workers should receive enough ___________ in return for their efforts.
a. labor
    
b. compensation 
    
c. conception
    
d. emphasis
5. The designers of this app are hoping its use becomes ___________ all over the world.
 
a. financial
    
b. cyclical
    
c. presumptuous
    
d. widespread 
II. Critical Thinking: Read each causal argument. Then look at the objection to each argument. Circle the correct type of objection. 

6. Causal Argument: Adults who participated in the Boy Scouts or the Girl Scouts as youths tend to have a greater appreciation for the environment. Clearly, the Scouts teach people to value nature.
Objection: Some people naturally enjoy the outdoors. These people are more likely both to join the Scouts as children and to appreciate the environment as adults.

a. Reversed cause and effect

b. Correlation but not causation

c. A third factor 
7. Causal Argument: In the 20th century, average global temperatures increased steadily. At the same time, the popularity of soccer increased steadily. The obvious conclusion is that warmer temperatures lead to more people enjoying soccer.
Objection: While the trends occurred in the same timeframe, it was just a coincidence.
a. Reversed cause and effect

b. Correlation but not causation  
c. A third factor

8. Causal Argument: As player salaries in baseball have increased, the popularity of the sport has also increased. Clearly, paying players more more money makes the sport more popular.

Objection: Perhaps player salaries have increased because the sport is becoming more popular. As more people watch, the teams make more money and, therefore, can pay more to the players. 

a. Reversed cause and effect 
b. Correlation but not causation

c. A third factor

9. Causal Argument: In recent years, Korean figure skaters have had success in the Olympics and World Championships. At the same time, the sport has become more and more popular in Korea. Clearly, success in competition leads to an increase in popularity.
Objection: On the other hand, it could be that an increase in popularity leads to more success in competition.

a. Reversed cause and effect 
b. Correlation but not causation
c. A third factor

10.  Causal Argument: In the summer, sales of sunscreen and of swimwear both show sharp increases. Clearly, using sunscreen causes people to wear swimsuits.
Objection: The likely cause for both trends is the warmer weather that comes with summer. In warm summer weather, people engage in more outdoor activities, including swimming.

a. Reversed cause and effect

b. Correlation but not causation

c. A third factor  
III. Word Study : Choose the SYNONYM ( = ) or ANTONYM ( <-->) for each word.

 11. Which of the following is a synonym for strategize?

   

a. plan 
   

b. improve
   

c. stress
   

d. explain
12. Which of the following is an antonym for inadequate?

   

a. insufficient
   

b. enough 
   

c. confident
   

d. shy
13. Which of the following is a synonym for labor?

   

a. goal
   

b. work 
   

c. money
   

d. rule
14. Which of the following is an antonym for emphasize?

   

a. ignore 
   

b. stress
   

c. pay
   

d. get
15. Which of the following is a synonym for enhance?
   

a. hire
   

b. fire
   

c. improve 
   

d. worsen
IV. Fill in the blanks with correct word.
	       financial    presumptuous    invest    norm   cyclical  


16. Darren received some excellent ____________ advice from his grandfather, so he had enough money to retire when he turned 45.
17.  In this country, the __________ is to kiss people you meet once on each cheek. 

18.  Before the Industrial Revolution, global warming and cooling was a ___________ process: temperatures naturally went up and then went down.  

19.  Many teens have a _______________ belief that they will never get sick or old.

20.  In order to improve at the piano, you must ___________ a lot of time in practice.
V. Cloze Test 
Questions 21~25
Employment is a two-way street. Job seekers must present themselves well and _____(21)_____ their strengths when trying to land a job. Conversely, companies seeking employees must offer the proper conditions and benefits to _____(22)_____ people to work for them. Young job seekers must realize that in difficult economic times, a university education alone may be _____(23)_____  qualification to get work. They must also show respect, dedication, and the ability to work with others when not many jobs are available. In more prosperous times, on the other hand, employers must change their _____(24)_____ of how to attract employees. In such times, a regular salary alone is not enough. More and more young people prefer _____(25)_____ in the form of time off and a flexible work schedule.
	21.
	a. invest
b. labor
c. strategize
d. emphasize 

	24.
	a. labor
b. conception 
c. cycle
d. investment

	22
	a. widespread
b. compensate
c. finance
d. convince 

	25
	a. compensation 
b. conception
c. strategy
d. priority

	23.
	a. presumptuous
b. financial
c. cyclical
d. inadequate 
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